A S % $ >
NP %, S K
¥ &
X
= 1
HEES @R[ 1w
s
oo
o
L) T mE E |E ; 158%
5 570 =8 50
z%‘ 'S ~ sg‘mg‘u = ““/LA%/\'\A
B WA (=) AEERBEH Vz PRSTIS i3 = 059 |28 G1-B500-L800-H1100
@
THER ERMEBEENRAZR PI-RC-DG00
=17.0
EE N
NO.10~N0.28 |
o010 &
Uy B %
=13 2
2
D
A >
V/,‘/A‘- 2 3
> Nz = ¥
7
7 ’ = \
LRT, Voo
/7 ( /)/
/) é‘\ o 1 " )
A i
l////.a NN T
L s
'// VI
2 © >
Z 7 R =
7 ! I
& o 2 K
2 AN z &
X =[< =}
FEEHBARHY f T
BRRRA 7 L
] X
SEEBRT Oy Y (B
L=58.5
PU2-B300-H300 (%
0-14300 (%) Pu“f obt309
3
25 b ke K
=449 72
25 NERE A 52
Eed AL T I
* a0 L=12277
- = S ses Liszs
: ) L . . » SEERARTO Y \’T:%éa@L =2
\ LR g 0 1 FRH_ o =142.3
6.8 5 v A‘ py="t 0) 30, B2F iy 9 Bffﬁ’f
\ Oxser WD‘,MW’- - o
I 28275 s“ 0 5 B2UT0y s
ZE 8 pgp, 5% 50 . -
61-8509., ;) "7 Y - s
;Lsog_,,m) yid &,
2 00! %
> oo %
S _pa00-Lt 2
A 5t BARENT 0y g
Z 283
sunsEE gii: 377
\ 7
BB EF 50309
=70
& 1PNO 1 Y | 1.665]1665 1PNO 2 Y [2.476 [2.476 1PNO 3 Y_[3.901[3.901 g
%, KNO | 1-1 | 12 | Lo | i11.387 P
KNO | 2-1 | 2-2 | Lo | 18.009 KNO | 31 [ 32 | Lo 5.138 % TPNO 4 Y [2.155]2.155
1A | 18-24-06 | oL | 91.387 TA | 360742 | GL | 89.18 1A | 404857 | CL | 80.346 < W | 41 [ 42 | Lo 7699
R_| 160 | 160 | D |45 974]45.974 R | 85 | 85 | D [45.694[45.694 R | 60 | 60 | 0 [41.428]41.428 £ W[ 250017 [ oL | 79.700
L [40.000[40.000] So_[39.972[39.972 L [35.588[35. 588| So [35.519]35. 519 L_[37.604[37.604] so_|37.440[37.440 R | 100 ] 100 | D |40 305[40 305
AR J0.416]0.416] W 25984 AR [0.620[0.620] W 21.926 AR [0.979]0.979| W 22. 687 L [36.001[36.000] So |35.949[35.949
XM_[19.990[19.990] A | 80 [ 80 X _[17.768]17.768] A | 55 | 65 XN [18.741[18.741] A | 415 [ 415 ZR [0.539 [0.509 | W 22,324 >
X_[39. 038]30. 93g] [ X_[35.433[35.433 [ X_[37.23737. 237 [ XW_[17.981[17.981] A | 60 | 60 P
X_|35.884]35. 884 [ ¥
&, > &, S A &
&, © &, S %, N
%, Py %, P %, &
2 < 4 K % ¥




=
T2
b §
alss
002 L o T
: ﬂ 2 ; . - 4051
TET T = H H 90°0 Hoss z0z 1920z H000 009 HizL'EL H  0F ONH 101 H oo
O i
<
7
’ : ’ T 5T H ooH 666 107 06102 H622 985 H622'9 H  1-6WiH oo 1-H
T T H oo 0510z H66°00 [Ho00 ‘085 Ho00 02 H 62 ONH H
-
<
=
- u
/ ST T H aop 056002 Hes 002 000095 Hs0z 2 H 82 ONH H
iw 3 y . . ~ I
/M /: / A W\n/m A H toH 297 002 62 002 (H96L LvS HS6L'L [ Z-bVH
]
T VL ST H woH 051002 He1 002 4000 078 H000°0Z H L2 ON H w0
v
0 -
IR é : ’ T T @@. H 110 Hosy 661 Hoa 661 H000 023 HS0Z'8 H 92 OM H o0
2 ST / : ’ T T H H 807012z 661 Hoe 661 (6L 11G H669°L H Z-v3N H o
= 2
2 ~
o0 ’ : _ T T H voH 960 661 00 661 4960 705 960 v [ I-v3) H a0
1 T o H e0oH 056861 H98 861 000 005 Ho00 02 H 62 0N H 20
50861
\// H S00H 095 '861 (05 ‘861 000 087 HS06 11 H ¥Z ON} M w0
s
\ =
@ H 700H 1€ 861 HLC 861 [HS60 89Y HS60°8 H 1PV H
M_ H 0z0H 051 '861 96 'L61 000 '09¥ H000 02 H €2 ON} H o
g »
8
8
=
&
m@ veoH 25161 Hez'L61 Hooo 0wy Heos'6  H 22 0N H Huo
&MQ H €¢0H L91 L6 H¥8 961 H16v 06y HBEL'S H Z-€I| H 050
2% /J
8
ﬂ\& H 2o0H L16 961 HOE 961 HESE Szv HESE'S H =€ H 050
M M L9 °0[{0€9 961 HOE L6) [000 0Z¥ (000 02 H 12 ON A w0
H H €7 HOISS61 HZ8 L6) 000 00¥ HISZ 2L H 0Z ON} H 90
2 H S60H ¥28 761 HL8 €61 H6YL L8E HO6VL L H -V H
2.
3
%
B H "01H 06€ 761 (€ €61 000 ‘08¢ H000'0Z H 61 ON} Moo
ka
0\
H vw1H 002 €61 HEZ 261 4000 09¢ H6€8°L [ 810N H &0
S
3
3
~
5050k H H ©€6°¢H6E8T61 HLL 961 HIOIZSEHIOL 2L H Z-ZIN M oo
o
o
m% 1 \ 85°01 HS0Z 261 H6L 20Z [H000 0¥E H8¥8 'S LLON
051261 H H il K H H il : H H
e \ N
o 0F H H 22721 HSI67161 HEl v0Z HeG1 pee HesL v1 H 1= M oo
o
b
b
H H 686 HOSZ 161 H¥l 102 (000 0Z€ HO00 0Z H 91 ‘ON} M oo
o
<,
88 / H soH 0¢ 061 HoL 681 H000 ‘008 Hoer 'L H &1 ON H w0
28 —
iz EW "
K| < .—m
— o | &
® | & o | & =
@ H |g|H o
2 | e W s
- ol &7
'] M K|
/9 # | T U] i I
o @ H H L L = ] L = B OE (e &
I o o o o o0t e || m = =
g g E g s o | # B = &0 °
E g| E E H = =
0 || = |0] K& 2 g B B
Nl N P - ) # 5 & El £l “ a R | I
=} | 2 —
| H]|® |aw A 3




/ ® R ‘ 1:100
Tm T
®| 1
A BEREE : /‘
B () xEExSH
&l
Hum SRHEEERAR

x»ow

300

BRI E R

R
0.75 10.00 .50
100 3.00 3.00  0.50 2.50
15175 15175)
3 o BIR

5=1:100

BRTE > I 18 1iE+1. 00

= 320.000

= 52

NO. 18 oo #B
AU —

GH
FH

191.250

BB R

EEA R
N %

A}

PUZ£B300-H300
HEs47

—

25 NERKES

1500

156=5.9

\/

Ny
> 16=11.3

7000

E (HR)
Fu (D)
Iz

28N BKE

—

—

——

5000

a.
O
a
1000
N
$
11=4.7
SYVTFavY
12=7.1

MERAR

40ST<100 (N33E3)

300
100_50

50

s=1:10

+CBROLL L 40

noE B (BEEHETRIY)
W2 bREEBE (BEHMERERE)

W FRBE (BERE)

150
10050

H

B (BEEHET R2Y)
W5 M (BERE)

150
100_50]

E

RE (BEBHETAAY)
Wi B (BERE)

A %
i ]
FY (L¥EL)
(L¥HEL)
(®E1)
(RED)
(pEE)
TAI7MRERRYEL
avHU—FBRYEL
ToyoERYEL
BERELE (2 5mEiH)
(2.5mEAE4. Onsk i)
(4.0mBLE)
BAELE (2 5mEiH)
(2. 5mELE4. Onsk i)
(4.0mpLE)
B3 SiEET
B4 BHEET
B85 BB T
B B BT
E(SE) RE (L¥EE)
E(SRI) RIE (A1)
E(SRT) BRiE (MET)
E(HR) BKIE (hEH)
Fu(® 2R (D)
E AWBE  (L¥FHEL)
E RERE  (E1)
E’ RERE  (WED)
E BEEE  (PEEH)
I PiiE@E  (L¥FEL) EEER (A8
12 EEER (AT hv @)
13 OtiEE  (HRE1) EEER  (FY8)
4 EEER  (A—T hv @)
15 OtiEE  (HRED) EEER  (A—T hv @)
16 OtiEE  (PEE)
I T EE
Ie ®IAVIU—F
SH Joy R
q EARE
I’ EEER  (L¥FEL)
[ EERR  (RED)
Wi HERE ® B
W2 LB
W3 TEBS
[ BREAR ®E
[ £
W6 SHEME =E
[l B
w8 i R
w9 mitEEa 2 — b




HEE S| ‘ B R ‘ 1:100
I oH T =
E
P £
R W E E e a
s ~
I =B w o~ =
BN R ABEAAER ol i Zle 3o 2l
it B 3 0 5
T SRHEEMEAR ~ = Iz
&
) " S ES
— N I e
= ® E :
°l2 i
NO. 14~KA2-1 = -8
IjE 3
S
SP = 298. 564 2
D= 21,436 «
KA2-1  Ream o
GH = 189. 99 01
FH = 190. 285 “
0.78 10.00
.0 3.00 . 3.00 .50 2.50
s
<
T
e 8
7S
B
6 2as
El” =0.2 E(SRI)=0.4 =23 oo
“g W6=2.30  Fu(®=0.3 B2 eseo
EL 18738 =2 W=2.30  EI” =0.4 g slggrt
o - sz 58
0. ofu® oT® of%
= = —|E —|@ R
DL =185.00 2o o g &
o = L=11.0
61-8500-L500-11450 — =Ll 62-8400-L400-H450
A 25RE
| ) © 2
N
I Ty I -
| SlEo o T
4 EYN S
o H
o <
22 = oo 8
g
-\ 2 SP = 280,000 Bl T g
= T8 D= 18564 s =2
ol A7 No. 14
Tl G = 188.75
- FH = 189. 450
0.78 10.00 210
1. 00, 3.00 . 3.00 0.50 2.50

EL. 187.38
P ————- = = = 0s
=11
=15
- T T T T =17.8
=0.8
B4 =04 olo 8
oo Wi o= 7.80 P it
<|2 W2 =7.80 Dl s
o Neerf W3 = 6.95 =
27T 2R
DR
N .
s b 3 :‘ZE
g oz 2 =
sl i
ng D=
s 2

62-B500-L500-H550
. s

=5.5

L:
P1-RC-D30




S p—
mEES 5 /o ‘ﬁﬂ‘ 1:100
E EHwa
&
w oA WK EE s
5
BN [
R SRHREEEAR
= Xk
NO. 16 ' "
® i
N -
n <la 2
ok i g
Ilx =" 2
~ i &
a g
£
SP = 320.000
D= 14.152
NO.16  R=106
GH = 201.14
FH = 191.250
11.70
2.00%
W4=12.45 CI(SE) = 7.0 EI" =0.2
o W5=12.35 ¢ 0.4 W6=2. 30
6.8 W7=2.30
4.8
6.5 o
= 0.5 S o
8 7.35 ~F® oco
= 185 J8 ez
B 7.55 a2 =
DL=18500 s S g

L=12.8
16
L=12.5
25 INERKEE

L=

14.0
25 INBUKER

»0 G2-B400-L400-H450

GlfBGOO*LEOO*HAEO‘L:L
25

i

L=11.0
25 BE

25 INEKBE

L=14.4
25 INBOK B

G2-B400-L400-H450

11.3
12

L

L=10.8
11

12=7.1




BEES e/g ‘ %R ‘ 1:20
B B s R
. &
A W m 0
B @ rs
Ao BRE A2EABE
THEF RTBAHEAR

= X

20085

15 /NEROKER

$=1:20

1300

700 300 300

RYFIYa— LK

o ck=18N/an2 5300-#200
HE R AED)
# 3 "o e % 2

AYF7Ya-LEE B250-H175 n 10.000
avyy—+t o ok=18N/? 3 1.331

I 2 1.400
L] 3 49
2 B 3 2.9
HERE 2 5.0
25 INERIKER
§=1:20
200125 1300

G ck=18N/m2

HE R 10m4 Yy
# 3 "o e % 2
avyy—+t T ok=18N/? 3 1.120
B i # T3P t=10m 2 0112

(o ok=18N/mn2)
RUF 7Y a—LE#E
B250-H175 (%7 v h$)

(0 ck=18N/mn2)

RUF 7Y a—LE#E
B250-H175 (%7 v h$)

(0 ok=18N/mm2)

PAEEZ I T ]
B300-H300 (4 v k1)

U1-B300-H300

5=1:20
600
150 300 150 =) el
0 ck=18N/mn2
800 #Lavsy—+
200 o ck=18N/mn2
% 10m% Y
#H# Al £ #® B u &
avoy—t 0 ok=18N/? 3 1.800
o# 2 18.000
HLavoy—+t o ok=18N/? 3 0.700
HLaVER n2 2.000
U2-B300-H400
5=1:20
600
150 300 _ 150
#E
|/ ci-a00
AR S
HLavyy—+
o ck=18N/an2
HER 10m% Y
# Bl M #® gy w &
avsu—+t o ck=18N/? n3 1.960
o# 2 22.000
HLavyy—t o ok=18N/? 3 0.700
HLaVER n2 2.000
LR # 20.0

HE R 10m& Y
# Bl "o® g w &
RUF7Y 2= LEH B250-HITS n 10.000
avoy—+ o ck=18N/? m3 1.001
@ m2 2.800
HER 10m% Y
# 2 ®no® B u &
RUFTY2—LEE B250-H1TS n 10.000
avoy—t o ck=18N/? m3 1.001
@ m2 2.800
LR 3 21
12 B m3 1.7
REEE m2 3.2
HER 10m% Y
# 2 ®no® B u &
TLErR M n 10.000
avoy—t o ck=18N/? m3 0.700
@ m2 2.800




